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i) a4t gv7 3THad & |

(i) TUSIH: FT G 1 @5 % 37 Tg-3707 397 & 3% 3% 397 & 7w 1 3%
&/

(iii) @US & : F97 G&IT 6 T 12 TF TY-IT1 T & 31 Feb Jo7 & 170 2 37 8 |

(iv) @IS T: ¥ &1 13 T 24 a% 1 T9-3709 J97 & 3 I J97 & 70 8 37%
g/

(v) GUS G : Y97 &I 25 & 27 7% FH-IRIT J97 & IR 9% 97 & fo70 5 37 8 |

(vi) 97 97 § GHY [acq 787 1397 71 3 | [ o v 37 et g yel A, @ 37l arct
zl 3ol 7, @7 3Pl aret TR g B a97 g 7wl are diFl 3ol # ey ar
g 1 08 g3 yo71 7 @ 3719e] v &1 fAheq FT IH AT 8 |

(vii) I3 ETIHAT Fl, T T TGTUHIT GRIGT 71T G & | Fopacd]l & IFIT B1
AT TETE |

General Instructions :
(1) All questions are compulsory.

(it)  Section A : Questions number 1 to 5 are very short answer questions and carry
1 mark each.

(iii)  Section B : Questions number 6 to 12 are short answer questions and carry
2 marks each.

(iv)  Section C : Questions number 13 to 24 are also short answer questions and
carry 3 marks each.

(v)  Section D : Questions number 25 to 27 are long answer questions and carry
5 marks each.

(vi)  There is no overall choice. However, an internal choice has been provided in
two questions of one mark, two questions of two marks, four questions of three
marks and all the three questions of five marks weightage. You have to attempt
only one of the choices in such questions.

(vii) Use of log tables, if necessary. Use of calculators is not allowed.
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SECTION A

1. HEZTI3E A IR B i & [ifa ® | a9 A 9 cep s7aT @ J€fsh a B
% qUTY] 1/3 TGShAh fr Sl a8 | M A I TR ? 1
A cube solid is made up of two elements A and B. Element A forms ccp

while atoms of element B occupy one-third of the tetrahedral voids. What
is the formula of the solid ?

2. 39 TANTSAT H ATE A Hohise i bl o= 8 hil ? 1

AYaT
TRryamh I w51 e IeE N | 1

How will you prepare arsenic sulphide sol in the lab ?

OR

Give an example of heterogeneous catalysis.

3.  HCN 3 |19 1fufshan o fd CH;COCH, 1 3198 CH,CHO 31fYsh foramefia

21w ? 1
CH3CHO is more reactive than CH3COCHj towards reaction with HCN.
Why ?

4. Tl Ufoera adTEe & 9HU STHI-3TT9ET & 3T 1 3 2 1
What are the products of exhaustive ammonolysis of an alkyl halide ?

5.  [Co(NH,);ClISO, a1 gl fohe TR <hl THTGFET G118 STt & 2 1

YT

famfafaa =t foreea & foured St & 9¢d %0 § =gafeda hifvw . 1

[Cr(CN)6]3_, [CI”(NH3)6]3+, [CrCl6]3_
What type of isomerism is shown by complex [Co(NH3)5CI1ISO, ?
OR

Arrange the following in increasing order of crystal field splitting energy :
[Cr(CN)gI3~, [Cr(NH)gl3*, [CrClgl3-
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SECTION B

6. S Aifeam FEgs & AYd AU & N helig IR WA W Fferfaa
ATTHATE BT Hehell B | TS TR FHelg W 1 3cuTe &1 2 feu 7w E° A o

TN ek U I hT gfee i |

FTS Nat*(aq) + e~ — Naf(s) E°=-271V
H*(aq) + e~ — %H2(g) E° =000V

e - CT (aq) — %Cl2(g) re E°=+1-36 V

2H,0(aq) — Oy(g) + 4H* + 4= E"=+1:23V

Following reactions may occur at cathode and anode during electrolysis of
aqueous sodium chloride. What products will be held at anode and
cathode ? Use given E° values to justify your answer.

Cathode: Nat*(aq) +e~ — Nal(s) E°=-271V
H*(aq) + &~ — %Hz(g) E° =000V
Anode : Cl” (aq) — %Clz(g) +e” E°=+136V

2H,0(aq) — Oy(g) + 4H* +4e- E°=+1-23V

7.  <uisC To6 guw wife i AfufRa #, 999 fufshan quif 89 # @ @ 90%
fufshan QUi B | O dTel §HE § AT Bl @ |

Show that for a first order reaction, time required for completion of 99%
of reaction is twice the time required for completion of 90% of reaction.

8. RV ¢d §Y, I 16  BISSIES] hl FAUHThI o IGd A H Y HINT | 39
B13g18E 1 I foiflau St Seamiiaend: qeg 31feres Tomft 2 |

Arrange the hydrides of group 16 in order of increasing boiling points,
giving reason. Name the hydride which is most stable
thermodynamically.
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TEQEEe @ KMnO, &1 foaq 8 fopam smar 2 2 oo afgd avelg 9%
gt |

How is KMnO, prepared from pyrolusite ? Give steps involved with
equations.

g WAes Alfie ‘A’, CHCly 3R KOH @1 AMWiHAT sich 31 s <a
7, aFl & A I9es & AT YT Bh I9H 39S B’ <d & | B’ A
STl ¢’ <A B TS8R SR C,HgO, B | C’ %1 Hifeam Taul AT asH
% Y T fRT I W D’ a1 B S ‘A’ SR ANSS o G193l i W
TS BT 8 | A, B, ‘C’ 3R ‘D’ i Yg=TT |

AUAT
a1y fafafigd Eaator 8+ 8 -
(a) M I e H
(b)  TIHTA I TIAA |
An aromatic compound ‘A’ on treatment with CHCl3 and KOH gives two

compounds, both of which give same product ‘B’ when distilled with Zinc
dust. Oxidation of ‘B’ gives ‘C’ with molecular formula C;HgzO,. Sodium
salt of ‘C’ on heating with soda lime gives ‘D’ which may also be obtained
by distilling ‘A’ with Zinc dust. Identify ‘A’, ‘B’, ‘C’ and ‘D’.

OR
How do you convert the following :
(a)  Phenol to Toluene
(b)  Ethanol to Ethanal

1 BIA1 g 918 D-Thi ohl HHITaIRad o &1 AT hl ATt g ? 310 I

& g | g e 1>2=2
(a) HI
(b)  HNO,

YT

M AT TR WER TEHT H whig g1 A Sy |
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What happens when D-glucose is treated with the following ? Give
equations to support your answer.

(a) HI
(b) HNOg
OR

Give any two points of difference between globular and fibrous proteins.

12. DNA 3T RNA ¥ g 3R faifau | 2
Write two differences between DNA and RNA.

@ us |
SECTION C

13. (a) TrEl ugred o1 5@ gEEhiE & H @1 T Al 3Ueh greehid SATEO
YR ¥ TEd 81d 8 | 9grd g JghRia graehed o JhR i TEATHT |

ONONORORO

(b)  fovcryor gufar @ for fishar stfemmse &1 TF Nig.gg01.90 2 | FhE &
forda 3191 Ni+2 3R Ni+3 =1 | foemm @ 2 1+2=3

(a)  Following is the alignment of magnetic moments of a substance
when placed in a magnetic field. Identify the type of magnetism
exhibited by the substance.

ORONONORO,

(b)  Analysis shows that nickel oxide has formula Nij.g30;.9o- What
fractions of nickel exist as Ni*2 and Ni*3 ions ?

14. 25°C W F=fafad a1 1 emf gferfaa Hife 3
Al (s) |A13*(0-:001 M) || (0-1) Ni2*+ |Ni (s)

fem2: E° =—025V

(NiZ* /Ni)

Eld+ ap =166V

[log 2 = 0-3010, log 3 = 0-4771 |

56/5/1 6
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Calculate the emf of the following cell at 25°C :
Al (s) |A13*(0-001 M) || (0-1) Ni%*+ |Ni (s)

. . 0 - 0-
Given ; (Ni2+/Ni) =—025V
Y —_ .
E( 3+, A1) = 1-:66 V

[log 2 = 0-3010, log 3 = 0-4771 ]

A 3R B % =g AMufha A < fd YW 3R B & Ifd I i H 2 | 39

arfurfsran & foru, Ffafaa aifere @ fes Tom wfte 3
T [A] mol/L [B] mol/L mmal:
I 0-1 0-1 2:0 x 102
II - 0-2 4-0 x 102
II1 0-4 0-4 -
IV - 0-2 2:0 x 102

The reaction between A and B is first order with respect to A and zero
order with respect to B. For this reaction, fill in the blanks in the
following table.

Experiment [A] mol/LL [B] mol/LL 11?/337111 /1;31:18
I 0-1 0-1 2:0 x 102
II - 0-2 4-0 x 102
II1 0-4 0-4 -
IV - 0-2 2:0 x 102
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16. (a) AgNO, oA i §g-dg i KI facrem o offaey o firement Agl =1
HidAge! Gid S9—1 T | 39 YR [fda gid 9w s saw g 2 ey
T HRAT T 8 ?

(b)y TrfaRgd & @ HE-A1 Aty Fwgret, Wifas sAfesiyo wi fEua
AT 8 ? 3 I h1 gfse i |
(x/m-3fersmor <t HT; -dTa)

o\ SAVAN

T
() A 3 B 2 19 & shifde d19 A 430 K 3 190 K & | -8 Aig
Yiigrdr 9 srfesnfya grft ofiw w4t 2 3

(a) A colloidal solution of Agl is prepared by adding AgNOg solution
drop-by-drop to excess of KI solution. What will be the charge on
the sol so formed ? What is the cause of the charge ?

(b)  Which of the following adsorption isobars represents
physisorption ? Justify the answer.

(x/m-Extent of adsorption; t-temperature)

x/Tm\ x/Tm /\

—

t

(c) Two gases A and B have critical temperatures 430 K and 190 K
respectively. Which gas will be readily adsorbed and why ?

17. T=fafea agedia wral @ deg faga fafaw . 1x3=3
(a) W A
(b) HSA TSR

(c) TS JTaEAT TRl

HAYAT
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frfcTiad s #eg T 3T QT 1x3=3
(a) T4l drgl 3R FHe el

(b) T GTEA IR graTe

(c) TAeaTe SR weib

State the principle involved in the following metallurgical processes :

(a)  Froth Floatation

(b)  Zone Refining

(c) Vapour Phase Refining

OR

Give one point of difference between the following :
(a)  Cast Iron and Pig Iron

(b)  Hydraulic Washing and Liquation

(c) Leaching and Roasting

18. fofefad & forg swmor i 1x3=3
(a) Th{-TH GRI had +3 SR JTEAT TS ST 3 |
(b)  [Ti(H,0)gl*+ TIEH 2 |
(¢  MnO & 8 S&fh Mn,O, 3% 2 |
HAAT
ffafEd % I fT 1x3=3
(a) SIS T W AR b [oaTe 1 8 ?
(b) € (YY) AT 58) hI T T h STEATT =1 7 2
(c) NfFeAraet g STaEfientur raEemsti i 98¢ TWE F1 gl STdT & ?
Give reasons for the following :
(a)  The only oxidation state shown by Scandium is +3.
(b)  [Ti(Hy0)4l#* is colourless.

(c)  MnO is basic while MnyO- is acidic.

OR

156/5/1 9 PTO.
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Answer the following :

(a)  What is the general electronic configuration of lanthanoids ?
(b)  What are the common oxidation states of Cerium (At. no. 58) ?
(c) Why do actinoids show a wide range of oxidation states ?

o

19. HASEhAT HEY fHgd 1 WM wd gqU, HEldiad & g0 @ graeh
A& i YR HINT 3
(a)  [Co(NHy)gl3*
b INi(CO),]
[T AT : Co = 27, Ni = 28]

Using valence bond theory, predict the hybridization and magnetic
character of the following :

(a)  [Co(NHjz)gl3*
(b)  [Ni(CO),]
[At. no. : Co =27, Ni = 28]
20. (a) Tr=faRaq uei 1 wfenfya Hifsw .
(i)  wfdafee &9
i)  afires fasor
(b)  FARIS=SH ATYREIE! Sfawema 3rfufshan & fore gfoielt o= Bt B 2 3

(a)  Define the following terms :

(1) Enantiomers

(11) Racemic mixture

(b) Why is chlorobenzene resistant to nucleophilic substitution
reaction ?

21. ffafaa & g fade =@ & fou ue-us vt e Ao . 1x3=3
(a) BTG R 1-N0HTA
(b)  TAATA 3T ST3HIA $em

()  1-9UaTd 3 2-Afora-2-aruatd
T

56/5/1 10
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22.

feafafga stfufsranst & 3cuare fafgu . I1x3=3
OH
CS,
(ii) +Br, —=>
OCH,

i AICL,
(iii) + CH3COCl

Give one chemical test to distinguish between the following :
(a)  Phenol and 1-propanol
(b)  Ethanol and dimethyl ether
(c) 1-propanol and 2-Methyl-2-propanol
OR
Write the products of the following reactions :

OH
CS,
(i) +Br, —=>
OCHj,

anhyd. AICl,
(iii) + CH3COCl

frefaritaa s fore sro €ifSe, 3199 3ot & gmele | S8 9vd & 98 e st
gt A - 1é><2=3
(a) Ucli%fesr WAl & SEUAI=E @l 6t g § Wiafes A *

SRS 0T 3Tfereh Torft Bid 2 |
(b) I H AfYTUHE, B FAES & A1y AMGRAT ek STAAISId Bileh

JTerETEe U L Tl B |
T

HW <d g FfaRad #l pky, % Fed A § =aEd HIfT : 1é><2=3
(a) UfeH, p-Tseiufetd, p-2icEen
(b)  CyHNH,, (Co,HL),NH, (CoHy),N TER 3feeer 1§

11 P.T.O.
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Account for the following, supporting your answer with diagrams or
equations wherever possible :
(a)  Diazomium salts of aromatic amines are more stable than those of
aliphatic amines.
(b)  Methylamine in water reacts with ferric chloride to precipitate
hydrated ferric oxide.
OR
Arrange the following in decreasing order of pk; giving reason :
(a)  Aniline, p-nitroaniline and p-toluidine
(b)  CoHgNH,, (CoHg)oNH, (CoHg)3N in gaseous state
23. T=faRad % HR0 Afd IW ST 1x3=3
(a) @1 (NH-CHR-CO), THEEA & 31d] Heagh @ ?
(b) ® PVC (W3l FARISS) Hom S19aT AN S5t & ?
() o SehcTse ATIEHS AT AIGE Tgaieh (TATECH) & ?
Answer the following with reason :
(a) Is (NH-CHR-CO), , a homopolymer or copolymer ?
(b)  Is PVC a condensation or addition polymer ?
(c) Is Bakelite a thermoplastic or a thermosetting plastic ?
24, fmafafga & 39 dfw . 1x3=3

(a)  SARIIEH o fEoar 91 § ? 3T TN 1 & ?

(b) it o G HEH T 8 ?

(0 faw e whfirs # wrerEt Si SR S sifea AR
CH4(CH,),,CO0(CH,CH,0),,CH,CH,OH

Answer the following :

(a)  What is tincture of iodine ? What is its use ?

(b)  What are the main constituents of dettol ?

(c) Label the hydrophilic and hydrophobic parts of the given
compound :

CH,4(CH,),sCOO(CH,CH,0) CH,CH,OH

56/5/1 12
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SECTION D

25. (a) 9% T 3R U % HY Tk I0E Wiw U foo=e # foames +
FIYTh I hl AT hifST |
(b) 2 TR IA H 25°C W K,S0, % 25 mg HieH W 9 I1el faerz i
TUE gTE, I8 WA §Y A i 6 K,S0, quid: faeifad &t w2 |
(A goIHH : K=39u,S=32u,0=16u) 2+3=5
YT
(a) e foerm & g Afiyererr fafEaw |
(b) 2g S=ilgh A (C4H,COOH) 25g s=iH H =i W feares #
1-62 K h1 ITAF <Al & | =9 o ¢ Al Aa194 feommen
4-9 K kg mol~1 % | Ife a8 foera & fga¥ (dimer) <9141 8, O 370t 1
TE feha wfaera grm 2 2+3=5

(a) Draw the graph between vapour pressure and temperature and
explain the elevation in boiling point of a solvent in solution.

(b)  Determine the osmotic pressure of a solution prepared by
dissolving 25 mg of K,SO, in 2 litres of water at 25°C assuming it
to be completely dissociated. (Atomic masses K = 39 u, S = 32 u,
O=16uw)

OR

(a)  Write two characteristics of non-ideal solution.

(b) 2 g of benzoic (C4H;COOH) dissolved in 25 g of benzene shows a
depression in freezing point equal to 1:62 K. Molal depression

constant for benzene is 4-9 K kg mol~l. What is the percentage
association of acid if it forms dimer in solution ?

26. TI=faiaa & fow e S Ix5=5
(a)  NO, 3o @ fgaefiea 2t 8 |

(b)  FAR TSt st Wit SR Lt 2 |
(c) e a1gsl 8 W o, Srierdion i geiaei wfey Tdedt, Tt i e

%A FRUMHS 7 |

(d) FAH H 90 980 § STHEI-STFA A SR, FTIARA had Th
3TTedl-37d HOF oA 3 |

(e)  3chte Ml o FaAH 9gd HH B & |

HAAT

156/5/1 13 PTO.
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(a) T=fcIRed st Tx=A G T oTmepld o 9™ faRax -
(1) SF,
i) IClg
(b) T BIT & e (379 3T Al gfte Tfiekor wfga hifom)
i) w0 T T AR g |ifsIm gsgiedss faea o yarfga
STl B 2
(i)  SHM FFAIGIINES 1 0T TeA-TTEA {ohaT ST & 2
(iii) O3 Heweh 3TF TFht ST ST 1Al 3 2 2+3=5
Give reasons for the following :
(a)  NO, dimerises readily.
(b)  Chlorine acts as a bleaching agent.
(c) In spite of small size, electron gain enthalpy of oxygen is less
negative as compared to sulphur.
(d)  Unlike chlorine, fluorine forms only one oxoacid, HOF.
(e)  Noble gases have very low boiling points.
OR
(a)  Draw structure and name the shape of the following :
(i) SF,
i) IClg
(b)  What happens when (Support your answer with equation)
(1) Chlorine gas is passed through hot and concentrated sodium
hydroxide solution ?
(ii))  Xenon hexafluoride is subjected to complete hydrolysis ?
(iii) Concentrated sulphuric acid is poured over cane sugar ?
27. (a) CHg-CH=CH - CHO % IUPAC 7™ fdifu |
(b) 39 U AR TIA o Hed fawg hd T Thd & ?
(c) M9 FMHfcfgd STl Sl il ?
(i)  <IeIEd hl dwAlseh 37 H
(i)  TAAIA I TOH-2-37A §
(iii) TS I 2-BTSGIFHIUAISS 37 o 1+1+3=5
HAYAT
56/5/1] 14
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(a) Gfafafaes s =1 ITUPAC M fafau |
(b) UHifeH 3 Y e FARIvEHeS vt 3feens oefiy B, = 2
(c) 3Gl ! fIRge 919 (CHy);C-CHO frfctfiad = @ sfirfshan shea
2
i) Tk e R Y BTEgIeRAliEh 3T
(i) grg Gifeaw gEgiaaTse foerm
(i) HHiReSTES TR gee 3FF 1+1+43=5

(a) Give IUPAC name of CHg— CH = CH — CHO.

(b)  How can you distinguish between ethanol and ethanal ?
(c) How will you convert the following :

(1) Toluene to benzoic acid

(ii))  Ethanol to propan-2-ol

(iii) Propanal to 2-hydroxypropanoic acid

OR

(a)  Give IUPAC name of Salicylic acid.
(b)  Chloroacetic acid is more acidic than acetic acid. Why ?
(c) Write the products formed when (CHg)3C—-CHO reacts with the

following :

(1) Zinc amalgam and dilute hydrochloric acid

(i1))  Concentrated sodium hydroxide solution

(111)) Semicarbazide and a weak acid
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i) a4t gv7 3THad & |

(i) TUSIH: FT G 1 @5 % 37 Tg-3707 397 & 3% 3% 397 & 7w 1 3%
&/

(iii) @US & : F97 G&IT 6 T 12 TF TY-IT1 T & 31 Feb Jo7 & 170 2 37 8 |

(iv) @IS T: ¥ &1 13 T 24 a% 1 T9-3709 J97 & 3 I J97 & 70 8 37%
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g 1 08 g3 yo71 7 @ 3719e] v &1 fAheq FT IH AT 8 |

(vii) I3 ETIHAT Fl, T T TGTUHIT GRIGT 71T G & | Fopacd]l & IFIT B1
AT TETE |

General Instructions :

(1) All questions are compulsory.

(it)  Section A : Questions number 1 to 5 are very short answer questions and carry
1 mark each.

(iii)  Section B : Questions number 6 to 12 are short answer questions and carry
2 marks each.

(iv)  Section C : Questions number 13 to 24 are also short answer questions and
carry 3 marks each.

(v)  Section D : Questions number 25 to 27 are long answer questions and carry
5 marks each.

(vi)  There is no overall choice. However, an internal choice has been provided in
two questions of one mark, two questions of two marks, four questions of three
marks and all the three questions of five marks weightage. You have to attempt
only one of the choices in such questions.

(vii) Use of log tables, if necessary. Use of calculators is not allowed.
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SECTION A

1. US TG 3T A N B dwal § Hdd 8 | & A & hep sHdT 8 S€fs dad B
% TTATY] 2/3 ITSherehid el sl W & | 3F 1 §F 1 7 ? 1

A cube solid is made up of two elements A and B. Element A forms hcp
while atoms of element B occupy two-third of the octahedral voids. What
is the formula of the solid ?

2. [Co(NH,)-ClISO, §%d gRI TohH SRR <h1 HHTEET g1 ST & 2 1
e

freforfigd = foreea & faures o1l & wed e § safedd HIifvu 1
[CH(CN)I3, [Cr(NH)l3*, [CrClgl3-

What type of isomerism is shown by complex [Co(NHj3)5C1ISO, ?
OR
Arrange the following in increasing order of crystal field splitting energy :
[Cr(CN)6]3‘, [Cr(NH3)6]3+, [CrCl6]3‘

3.  CH;- CHO 1 3Tidiehu CHz— COCH, 1 3TU&T STEMT § Bl 8 | i 2
Oxidation of CHg — CHO is easier than CHg3 — COCHg. Why ?

frefefiaa ifies o1 ofE. g 9w . am fafav 1

CH; - N — CH, — CH, — CH,
|
CH,

~

=

Write the IUPAC name of the following compound :
CHg; - N - CH, - CH, — CHgq
I

CH,

5. 39 YATRNAT § Aok Hohse i ol = 8 Hal ? 1
e

Ryt 3w =51 T Ierg A | 1

How will you prepare arsenic sulphide sol in the lab ?
OR

Give an example of heterogeneous catalysis.

1561512 3 PTO.
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SECTION B

6. I B ] 9
(a)  XeF, Jd-3Tqded Il 8 ?

(b) SO, %! Fed+ @@u o ety faera # varfed foram Sram 2 2
What happens when

(a)  XeF,is hydrolysed ?

(b) SO, is passed into aqueous solution of Fe3+ salt ?
7. TrafaRga aeteton @i qoi g dqferd ST

(a) MnO, +I"+H" —

(b)  NayCry,0O; + KCl ——
Complete and balance the following equations :

(a) MnO, +1I" + H — >
(b)  NayCry,0O; + KCl ——

8. i HWIf$am FINES o dgd U= & SN helg 3R Ui W Fmferfad
AYTRATE B Tehl & | UATS 3T FHolg W &1 Icq1e o471 ? feu mw E° A o1

YT HTeh U I I gfse hifF |

Fefs Na*(aq) + e~ — Nal(s) E°=-271V
H(aq) + &~ — %Hz(g) E° =000V

e - Cl (aq) — %(312(g) re E° = +1-36 V

2H,0(aq) — Oy(g) + 4H* + 4~ E"=+1-23V

Following reactions may occur at cathode and anode during electrolysis of
aqueous sodium chloride. What products will be held at anode and

cathode ? Use given E° values to justify your answer.

Cathode : Na*(aq) + e~ — Na(s) E°=-271V
H*(aq) + e~ — %Hz(g) E° =000V
Anode : CI” (aq) — %Clz(g) +e” E°=+136V

2H,0(aq) — Oy(g) + 4H* + 4= E"=+123V

56152 4
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guIts fob wom ehife <t afufsham o, 999 SAfufsham qui g9 ® & ¥9I 90%
sfufshan qui B | O dTol S9Y H AT Bldl @ | 2

Show that for a first order reaction, time required for completion of 99%
of reaction is twice the time required for completion of 90% of reaction.

10. I A1 8 9 D-hiE shi HHfiRad o a1 SAMfshar Sl STt 8 2 310 I

% gue # Tt fafa 1>x2=2
(a) HI
(b)  HNOg4
AT
TR TEHT 3TN WIGR WEHI H Hig q 3R GIT | 2

What happens when D-glucose is treated with the following ? Give
equations to support your answer.

(a) HI
(b)  HNO,
OR

Give any two points of difference between globular and fibrous proteins.

11. =15 WAl Ak ‘A’, CHCl; 3 KOH % @19 31lshan ek 31 ik ol
7, gHl & ANk IS o A AT gR 99 3Ic9E B’ <d ® | B H
SAferffRTu ‘¢’ <A B TS8R SRR C,HgO, 7 | ¢’ 1 Hifsaw Tav Al asH
& WY TH fhpT I W D’ 2d1 8 S ‘A’ <l ISIeTSl o d1Y 3T ohid WX ot

Wm% le,’¢B7’cCa3:ﬁ-{cD)qﬁngn—ﬁ-Ql 2
AAAT
319 fAferfgd w9t &8 = 2 2

(a) A I e |
(b) T I TAAA H
An aromatic compound ‘A’ on treatment with CHCl3 and KOH gives two

compounds, both of which give same product ‘B’ when distilled with Zinc
dust. Oxidation of ‘B’ gives ‘C’ with molecular formula C;HzO,. Sodium

salt of ‘C’ on heating with soda lime gives ‘D’ which may also be obtained
by distilling ‘A’ with Zinc dust. Identify ‘A’, ‘B’, ‘C’ and ‘D’.
OR

1561512 5 PTO.
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How do you convert the following :
(a)  Phenol to Toluene

(b) Ethanol to Ethanal

12.  T=AfcTigd vgi =l qftria i -

(a) UifTass
(b) IfFAARES

Define the following terms :
(a)  Polysaccharides

(b) Nucleotides

@ s v
SECTION C

13. 25°C W F=fafad 9d 1 emf 9fenfed Hifse
Al (s) |AI3*(0-001 M) || (0-1) Ni2+ |Ni (s)

. (o] —_ —0N-

fem 2 - B2+ ) =~ 025V
o —_ 1.

E? 3+, =~ 166V

[log 2 =0-3010, log 3 =0:4771 |
Calculate the emf of the following cell at 25°C :

Al (s) |A13*(0-001 M) || (0-1) Ni2*+ |Ni (s)

Given: E =—025V

(0]

(NiZ* /Ni)
o - _ 1.

B 3+ a =~ 166V

[log 2 = 0-3010, log 3 = 0-4771 |

56152 6
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(b)

(a)
(b)

NaCl forH TR =1 Teisfrid) S gmifar 8 3K i 2

forelt a1 fohea I wetoh-shfgd O Teheh hIfSShT o foTu Hepetd
YT hT Uit shifoTT | 3

What type of stoichiometric defect is shown by NaCl and why ?

Calculate the efficiency of packing in case of a metal crystal for
face centred cubic unit cell.

15.  Hifes TR0 3R AN & 7L I =) faRau | 3

Write three differences between physisorption and chemisorption.

16. A 3R B & HeT AMGRAT A o Jfd g9 3R B & ¥ I Sl H g | 39

it & foru, Fafafaa aifere @ fed Tom wfte 3
TR [A] mol/L [B] mol/L mj;
I 0-1 0-1 2:0 x 102
II - 0-2 4-0 x 102
II1 0-4 0-4 -
IV - 0-2 2:0 x 102

The reaction between A and B is first order with respect to A and zero
order with respect to B. For this reaction, fill in the blanks in the

following table.

. Initial Rate
Experiment [A] mol/L [B] mol/L Mol/L/min
I 0-1 0-1 2:0 x 102
II - 0-2 4-0 x 102

111 0-4 0-4 —
IAY - 0-2 2:0 x 102

56/5/2 7 P.T.O.
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T7. fafafigd = fow R dif . 1x3=3
(a) Th{-TH GRI had +3 TR0 TTET RS AT & |
(b)  [Ti(H,0)gl*+ TEH 2 |
(¢  MnO &™ g S&sh MnyO, 37 7 |
HAYAT
ffafEd % I fNT 1x3=3
(a) AATTIST T AT FAF(eh fo=amq &= 8 2
(b) T (WHTY] SHHTR 58) hl WMHT JATFEHIUT STTLIATTE T & 2
(c) UfFeATaSi grI SATeaeiTent TaweTati sl Jag qud AT guiial Sl g ?
Give reasons for the following :
(a)  The only oxidation state shown by Scandium is +3.
(b)  [Ti(HyO)gl 4+ is colourless.
(c) MnO is basic while MnyO- is acidic.
OR
Answer the following :
(a)  What is the general electronic configuration of lanthanoids ?
(b)  What are the common oxidation states of Cerium (At. no. 58) ?
(c) Why do actinoids show a wide range of oxidation states ?
18. TfaRea argerdia yspai & geg faga fafem : 1x3=3
(a) W e
(b)  HEA TSR
(c) Ao TSEAT YILsshivl
HAAT
frefafad & aeg & o= G 1x3=3

(a) &odl gl 3 =l gl

(b) T g1 3T ZrETeH
(c) THerem ot welv

56152 8
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State the principle involved in the following metallurgical processes :
(a)  Froth Floatation
(b)  Zone Refining

(¢)  Vapour Phase Refining
OR
Give one point of difference between the following :
(a)  Cast Iron and Pig Iron
(b)  Hydraulic Washing and Liquation
(c) Leaching and Roasting

19. HASEHal 3EY fHg 1 WM Hd gC FHEAiEd & §R T g
aegor 6t I A 3
(@)  [CoFgl3-
(b)  [Ni(CN) %~
[FRHT] 36HTeh : Co = 27, Ni = 28]

Using valence bond theory, predict the hybridization and magnetic
character of the following :

(a)  [CoFgl®-
(b)  [Ni(CN),I%~

[At. no. : Co =27, Ni = 28]

20. (a) Tr=faRea ugh = ufenfya Hife
i)  gfafes ®a
i)  Yfafies fasmor
(b)  FARIS=SIH ATYREIg! Sfaeemad rfufshan & fore gfotielt a1 Bt 3 2 3

(a)  Define the following terms :
(1) Enantiomers

(11) Racemic mixture

(b) Why is chlorobenzene resistant to nucleophilic substitution
reaction ?

1561512 9 PTO.



0]
=
m

o1, Freefa % oo wor AR, o1 3o S wwek § o Gve @ ag o st
EEIETURHIE 1R léx2:3
(a) Uclifesr WAl & SEUAIEM o9 &t gomm # wifes wia &
ST wqur 31feres Tl gid 8 |

(b) A T AU, % Fss & T AR Hleh AadiNd Hhih
JATFETEe AT HL e B |

AT

WU ¢ gY FEIRIA 1 pky, o Hed S H FATEAT HINT : zéx2:3
(a) U, p-ATSIUfeiH, picgen

(b)  CoHNH,, (CoHL),NH, (CoHy),N TEHR afewern §

Account for the following, supporting your answer with diagrams or
equations wherever possible :

(a) Diazomium salts of aromatic amines are more stable than those of
aliphatic amines.

(b)  Methylamine in water reacts with ferric chloride to precipitate
hydrated ferric oxide.

OR

Arrange the following in decreasing order of pky giving reason :

(a)  Aniline, p-nitroaniline and p-toluidine

(b) CoHzNH,, (CoHy)9NH, (CoHg)sN in gaseous state

22. Tmafafga & aea favg w0 & fou we-us qamfes wheo i . 1x3=3
(a) HHEIA AR 1-99HTA
(b) T IR SIS 3R
(¢)  1-3UHTA 3R 2-HfU-2-SuTe
arera

56152 10
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frtefiga stfufshamsti o Icurg fAfem : 1x3=3

OH

CS,

(ii) +Brg ——

OCH,

i AICL,
(iii) + CH3COCl
Give one chemical test to distinguish between the following :
(a)  Phenol and 1-propanol
(b)  Ethanol and dimethyl ether
(c) 1-propanol and 2-Methyl-2-propanol
OR

Write the products of the following reactions :

OH

CS,

(ii) +Brg ——

OCH,4

anhyd. AlCl,
(iii) + CH3COCl
23. TfafEd & e 3Ia Tawe AT : 1x3=3

(a) gl sk fowshndt

(b)  ufd-37a 3t wfafeeefim

(c) T IR UHTSR
Differentiate between the following :
(a)  Antiseptics and Disinfectants
(b)  Antacids and Antihistamines

(c) Soaps and Detergents

1561512 11 PTO.
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ffaiRaa = s gfga I e . 1x3=3

(a) @ (NH-CHR-CO),, GHagc® 8 AL HEagaA o ?
(b) T PVC (Wa3Ha FARISe) He- 312€T AN 95 o ?

N E
e

(c) T Shell3e ATgHS AU AIGE Sgaish (WATEH) B 2
Answer the following with reason :

(a) Is (NH-CHR-CO), , a homopolymer or copolymer ?

(b) Is PVC a condensation or addition polymer ?

(c) Is Bakelite a thermoplastic or a thermosetting plastic ?

TUS g
SECTION D
25. (a) CHg-CH =CH - CHO %1 [UPAC 9 fafig |
(b) 3 VAT TR A o TeA faug 8 T Thd @ ?
(¢) 3 Ffafad Suraor F& & ?
(i) 2T ol a5 30 |
(i)  TIHTA I TUA-2-3TcA H
(i) WU Pl 2-BISSIFEIIIUIE A T 1+1+3=5
HAYAT
(a) Ofafafas st &1 IUPAC T faRaw |
(b) UHifCH T I UL FARIUHIEH 30 AR A g, Fl 2

() 3Gl ! fifge 91 (CHy);C-CHO ffctfiad = @y sfrfshan shea
3

i) Torp o™ IR a7 eTEgiaaiih 3

(i) Hrg Aifea gEgiaarss foerH

(i) WHReETES 3R goa 3T+ 1+1+3=5

56152 12
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(a)

(b)

(c)

(a)
(b)

(c)

26. (a)

(b)

Give IUPAC name of CH3 — CH = CH - CHO.

How can you distinguish between ethanol and ethanal ?
How will you convert the following :
(1) Toluene to benzoic acid
(i1)  Ethanol to propan-2-ol
(iii) Propanal to 2-hydroxypropanoic acid
OR
Give IUPAC name of Salicylic acid.
Chloroacetic acid is more acidic than acetic acid. Why ?

Write the products formed when (CHg)3C—-CHO reacts with the
following :

(1) Zinc amalgam and dilute hydrochloric acid
(ii))  Concentrated sodium hydroxide solution

(111)) Semicarbazide and a weak acid

I T I dI9 o HE Teh @ Wiy Ug faoee # foames &+
FIUTh ITI hl AT hifoT |

2 Sl S H 25°C W K,S0, % 25 mg HIeH T dTod foierad 1
TUE 316, I8 WA g G Hi foh K,S0, quia: foeifad &t mn 2 |

(A geI{{ : K=391u,S=321u,0=16 1)
YT
13 P.T.O.
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(a) MY faemd & @ st faflgu |

(b) 2g SEH A (CaH;COOH) 25g a=iH H e W faare
1462 K o1 384 Sl & | S=siid o [0U Alad 3a-aa oo
4-9Kkgmol_1%Iﬁﬁﬁﬂﬂ?ﬁ%ﬂq(dimer)w%,?ﬁmw
o fopae wferera g 2 2+3=5

(a) Draw the graph between vapour pressure and temperature and

explain the elevation in boiling point of a solvent in solution.

(b)  Determine the osmotic pressure of a solution prepared by
dissolving 25 mg of K,SO, in 2 litres of water at 25°C assuming it
to be completely dissociated. (Atomic masses K = 39 u, S = 32 u,
O=16u)
OR

(a) Write two characteristics of non-ideal solution.

(b) 2 g of benzoic (CqH5;COOH) dissolved in 25 g of benzene shows a

depression in freezing point equal to 1:62 K. Molal depression
constant for benzene is 4-9 K kg mol~l. What is the percentage

association of acid if it forms dimer in solution ?
27. T=faRea @ faw wror dfvw Ix5=5
(@)  NO, 3fierar & fasficha &t 7 |
(b) FARH foih i 9ifd & H 7 |
(¢) B UEA 84 W, rericH il soiaei= aAfed T, Towt i et
A UM 2 |
(d) FAA I Wifd g ¥ ATFE-SFA 4 TR, FIANT had Th

SATFIT-3TFA HOF <A1l 2 |
(e)  Icohse Tl % FaYHich Sgd % B 1 |

HAAT

56152 14
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(a) T=fcIRed s T=A G w@ mepid o 9™ faRax -
)  SF,
() ICl
(b) o BT B W& (3199 I <hl gfe gefishtor @fga <hifsie)
) FARH T8 ™ R "y difewm gegidase oo # yarfga 6

STt B 2
(i) S SFTHIITES 1 qUI STeA-3T9ere foham ST 8 2
(iii) ET5 Hewfeh 3T TFht h ST STl 1Al & 2 2+3=5

Give reasons for the following :
(a)  NO, dimerises readily.
(b)  Chlorine acts as a bleaching agent.

(c) In spite of small size, electron gain enthalpy of oxygen is less

negative as compared to sulphur.
(d)  Unlike chlorine, fluorine forms only one oxoacid, HOF.

(e)  Noble gases have very low boiling points.

OR

(a)  Draw structure and name the shape of the following :
(1) SF,
i) IClg

(b)  What happens when (Support your answer with equation)

(1) Chlorine gas is passed through hot and concentrated sodium

hydroxide solution ?
(i)  Xenon hexafluoride is subjected to complete hydrolysis ?

(iii) Concentrated sulphuric acid is poured over cane sugar ?
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AT 3397 :

i) a4t gv7 3THad & |

(i) TUSIH: FT G 1 @5 % 37 Tg-3707 397 & 3% 3% 397 & 7w 1 3%
&/

(iii) @US & : F97 G&IT 6 T 12 TF TY-IT1 T & 31 Feb Jo7 & 170 2 37 8 |

(iv) @IS T: ¥ &1 13 T 24 a% 1 T9-3709 J97 & 3 I J97 & 70 8 37%
g/

(v) GUS G : Y97 &I 25 & 27 7% FH-IRIT J97 & IR 9% 97 & fo70 5 37 8 |

(vi) 97 97 § GHY [acq 787 1397 71 3 | [ o v 37 et g yel A, @ 37l arct
zl 3ol 7, @7 3Pl aret TR g B a97 g 7wl are diFl 3ol # ey ar
g 1 08 g3 yo71 7 @ 3719e] v &1 fAheq FT IH AT 8 |

(vii) I3 ETIHAT Fl, T T TGTUHIT GRIGT 71T G & | Fopacd]l & IFIT B1
AT TETE |

General Instructions :

(1) All questions are compulsory.

(it)  Section A : Questions number 1 to 5 are very short answer questions and carry
1 mark each.

(iii)  Section B : Questions number 6 to 12 are short answer questions and carry
2 marks each.

(iv)  Section C : Questions number 13 to 24 are also short answer questions and
carry 3 marks each.

(v)  Section D : Questions number 25 to 27 are long answer questions and carry
5 marks each.

(vi)  There is no overall choice. However, an internal choice has been provided in
two questions of one mark, two questions of two marks, four questions of three
marks and all the three questions of five marks weightage. You have to attempt
only one of the choices in such questions.

(vii) Use of log tables, if necessary. Use of calculators is not allowed.
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SECTION A

1.  [Co(NH,):ClISO, E%d gNI fohe YehT shi EHTSRIGAT GRITS STl & 2 1

AT

freforfiga = foreea &9 fauren St & wed % 8§ sgafedd i 1
[Cr(CN)gl%, [Cr(NH)gl3*, [CrClgl3-

What type of isomerism is shown by complex [Co(NH3)5CI1ISO, ?
OR

Arrange the following in increasing order of crystal field splitting energy :

[Cr(CN)gI3-, [Cr(NHy)gl3+, [CrClgl3-

NH - C,H
2. @( 7 1 amdgduah. am R | 1

NH - C,Hj
Write the IUPAC name of @ .

3. O TR 1 T p-AEgIEASH A I pk, B AM AT BT R
w7 2 1

p-nitrobenzoic acid has lower pk, value than benzoic acid. Why ?

4. 379 YATSNAT H Eh Gohrge did ol [=q 8 3l 2 1
g
A I w1 e IeE AN | 1
How will you prepare arsenic sulphide sol in the lab ?
OR

Give an example of heterogeneous catalysis.

5. T Aifieh g axal X AR Y @ fffa 8 | @@ Y & 9wt (FOmeE) ¥ cep
AT 8 AR X T & Y] (gAH) it Tshorehia [kl ®§ W1 gid 8 | s
I R 2 ? 1
A compound is formed by two elements X and Y. Atoms of the element Y

(as anions) make ccp and those of the element X (as cations) occupy all
octahedral voids. What is the formula of the compound ?

1561513 3 PTO.
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SECTION B

6. Tmafafaa & 7ea s1r il - 2

(a) —fFasiierss IR faasiass
(b) UHAE 3R HAfEeA

Differentiate between
(a) Nucleotide and Nucleoside

(b)  Amylose and Amylopectin

7. 1 A1 g 99 D-ehig hi fEfaiRad o wny SAfufshAr i ST B 2 T I

% gue # Tt fafa - 1x2=2
(a) HI
(b) HNO,
srerat
MiTeh™d TEHT 3R WIGR WM § Hi5 q AR GIT | 2

What happens when D-glucose is treated with the following ? Give
equations to support your answer.

(a) HI
(b)  HNO,
OR

Give any two points of difference between globular and fibrous proteins.

8. T« 91 g1 § 99 2
(a)  PCly %I TRH feraT ST @ 2
(b)  XeF,, PF, & 31fufshar sam 2 2

What happens when

(a) PCly is heated ?
(b) XeF, reacts with PFg ?

561513, 4
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SHIATSE 3% O Aifed SEshiue o foa= =t fafgu | 2

Write the preparation of sodium dichromate from chromite ore.

© m

10. =i WA A6 ‘A’, CHCl; 3R KOH @19 TTshaT ik 31 Alfih ol
7, aFl & A I9ES & AT Y dh I9H 391G B’ <d & | B’ A
HTFHIHRT ‘C” 31 B &R G C,HgO, B | ‘C’ 1 WIfSHH AU WIS WATEH
% Y Y fhU I W D’ T@m 3 S ‘A’ S ANCSS o G1Y ITEfad i Wt

Ted BT 8 | ‘A%, ‘B, C 3T ‘D’ <hl YEETHY | 2
YT
a9 f=fafiad wa=aor 8 i @ 2

(a) It ol e |
(b)  UAAIA I TIAA H
An aromatic compound ‘A’ on treatment with CHCl3 and KOH gives two

compounds, both of which give same product ‘B’ when distilled with Zinc
dust. Oxidation of ‘B’ gives ‘C’ with molecular formula C;HzO,. Sodium
salt of ‘C’ on heating with soda lime gives ‘D’ which may also be obtained
by distilling ‘A’ with Zinc dust. Identify ‘A’, ‘B’, ‘C’ and ‘D’.

OR
How do you convert the following :
(a)  Phenol to Toluene
(b)  Ethanol to Ethanal

11. <IMST Toh WM whild i TR H, 99% SAMGRAT q01 g H TN F9I 90%
Ffufshan qui B | OFH dTel SHE H AT Bial @ | 2

Show that for a first order reaction, time required for completion of 99%

of reaction is twice the time required for completion of 90% of reaction.

1561513 5 PTO.
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12. ST GIfSTH FANISS o dEgd ITH oh SN hIig 3R UAE W FHHfiiad
srffsramd & dehdl & | UAre 3R Fhelie W 1 3eqte o+ 2 feu U BE° HEl

ST Hleh 3T I h gfee HifT |

Fefs Nat(aq) + e~ — Na(s) E°=-271V
H*(aq) + e~ — %H2(g) E° = 0-00 V

TS : Cl(aq) — %(312(g) +e E°=+136V

2H,0(aq) — Oy(g) + 4H* + 4e~ E°=+1-23V

Following reactions may occur at cathode and anode during electrolysis of
aqueous sodium chloride. What products will be held at anode and

cathode ? Use given E° values to justify your answer.

Cathode: Na'(aq)+ e~ — Nal(s) E°=-271V
H*(aq) + e~ — %H2(g) E° =000V
Anode : Cl (aq) — %Clz(g) +e” E°=+136V

2H,0(aq) — Oy(g) + 4H* + 4~ E°=+1-23V

Qg |
SECTION C
13. (a) AgCl g 8 TR 1 SRR 3 g Srar & oK # 2
(b) et a1g fohea 1 T oI Theh SifsdhT o T Hspe &man &1

iR I |
(a)  What type of stoichiometric defect is shown by AgCl and why ?

(b)  Calculate the efficiency of packing in case of a metal crystal for
simple cubic unit cell.

561513, 6
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Fr=faRaa et = gfenfya Sifse 3
(a) Thed

(b) HEUR hII5S

(c) Sl T

Define the following terms :
(a)  Coagulation

(b)  Associated colloids

(¢) Brownian movement

15, ANBFHugfifpn AF sfdmem s B F sl smwe A1 2 1 3@

Aftufsran & foru, F=fafaa aiferes 4 s wom witw - 3
a1
SR [A] mol/L [B] mol/L mmin
I 0-1 0-1 2:0 x 102
II - 0-2 4-0 x 102
II1 0-4 0-4 -
IV - 0-2 2:0 x 102

The reaction between A and B is first order with respect to A and zero
order with respect to B. For this reaction, fill in the blanks in the

following table.
Experiment [A] mol/LL [B] mol/LL Iﬁsﬁ /1;31:18
I 0-1 0-1 2:0 x 102
I - 0-2 4-0 x 102
II1 0-4 0-4 -
A - 0-2 2:0 x 102

1561513 7 PTO.
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25°C W frafafgd ¥ &1 emf ferfaa il . 3
Al (s) |A13+(0-001 M) || (0-1) Ni%* |Ni (s)

femmg:. E° =—025V

(NiZ* /Ni)

- E
&

B3+ ay =166V

[ log 2 =0-3010, log 3 =0-4771 ]
Calculate the emf of the following cell at 25°C :
Al (s) |A13+(0-001 M) || (0-1) Ni%* |Ni (s)

. ) 0 —_0-
Given : E(N12+/Ni) =-025V

B3+ apy =~ 166V

[log 2 = 0-3010, log 3 = 0-4771 ]

17. FfaRea & faw sro @i . 1x3=3
(a) ThiSTH GRT hact +3 STFETHITT AT GIITE ST B |
(b)  [Ti(H,0)gl*+ TEH 2 |
(¢)  MnO & 8 S&fh Mn,O, 3T 2 |
sta
freafafaa & s @R 1x3=3
(a) SIS T W AT -eh [oaTe 1 8 ?
(b) T (ETY] SHhHTH 58) <hi HHTT T TLATE T 3 2
(c) UfkeATISI gRI SATelTohtul TaEATST T Jag U™ 1 CIAT Sl 8 ?
Give reasons for the following :
(a)  The only oxidation state shown by Scandium is +3.
(b)  [Ti(Hy0)4l** is colourless.

(c)  MnO is basic while MnyO- is acidic.

OR

561513, 8
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Answer the following :
(a)  What is the general electronic configuration of lanthanoids ?
(b)  What are the common oxidation states of Cerium (At. no. 58) ?

(c) Why do actinoids show a wide range of oxidation states ?

18. T=ffea argewdia whal @ deg faga fafau . 1x3=3
(a) W wed
(b)  HESA SR
(c) TS YTeeT qisehIul
Tt
frferfiea = #ea T st i 1x3=3
(a) T el 3R F= e
(b) CIRRCICERCILRACHGE
(¢ THemem 3R woH

State the principle involved in the following metallurgical processes :
(a)  Froth Floatation
(b)  Zone Refining

(c) Vapour Phase Refining
OR

Give one point of difference between the following :
(a)  Cast Iron and Pig Iron
(b)  Hydraulic Washing and Liquation

(c) Leaching and Roasting

1561513 9 PTO.
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TSR e fagia 1 3T Fid U FfaRad & S v gk aeo

1 ATh ST : 3
(a)  [NiCl, ]2~

(b)  [Co(Cy0,)513~

[FRHT] 3pHTeh : Co = 27, Ni = 28]

Using valence bond theory, predicit the hybridization and magnetic
character of the following :

(a)  [NiCl%-
(b)  [Co(Cy0 413~

[At. no. : Co =27, Ni = 28]

20. (a) Tr=faRaq ugi o1 ufenfya Hifsw .
i)  wfafes w1
(i)  Yfafies fasmor
(b)  FARIS= AT Tfaeema srffsean & fore gfcrieft =i gt 2 2 3

(a)  Define the following terms :
(1) Enantiomers

(i1) Racemic mixture

(b)  Why is chlorobenzene resistant to nucleophilic substitution reaction ?

21. Tr=fafiead & sru afga 3w ST 1x3=3
(a) ¥ (NH-CHR-CO), HHagash & ] Hgagaeh 8 ?
(b) T PVC (WfazHe Fiiige) Hem- 319dT AN 951 o ?
(c) T Sohollse ATUgHSH UGT ATIGE Tgeish (TATEeh) 2 2

Answer the following with reason :

(a) Is (NH-CHR-CO),, , a homopolymer or copolymer ?
(b)  Is PVC a condensation or addition polymer ?
(c) Is Bakelite a thermoplastic or a thermosetting plastic ?

561513, 10
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frefeifiga o T srw afSe, 1o 39 % gwele § wgl 9ve 8t g8l e st
GriehTer AT léx2:3

(a) Uelihfess Wi & SRUAIMEH o@ui 6 qo-T § wWafes A +
SRUAIIY daur 377 €l gid 3 |

(b) A H AfIAUHH, i FAUsS & T AT Hleh STaFiNd Hilh
JATFEZE ST HL el 2 |

AT
RO 37 g FrfaRad B pk, ¥ T w0 i safeud Hif ; 1252=3
(a) Ui, p-AEEeeH, p-eieEg
(b)  CoHZNH,, (CoHy),NH, (CoHy)gN Tl sreeen 4

Account for the following, supporting your answer with diagrams or
equations wherever possible :

(a) Diazomium salts of aromatic amines are more stable than those of

aliphatic amines.

(b)  Methylamine in water reacts with ferric chloride to precipitate
hydrated ferric oxide.

OR

Arrange the following in decreasing order of pky giving reason :

(a)  Aniline, p-nitroaniline and p-toluidine

(b)  CoHgNH,, (CoHg)oNH, (CoHg)sN in gaseous state

1561513 11 PTO.
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e & ae fave w0 & o w-us qamfe gheo S Ix3=3
(a) HHA 3 1-TUATA

(b)  TIATA 3R STEHUA $H

(¢)  1-9NUHTa 3T 2-0fYet-2-adaTe

N
&

YT
faefafga stfufseanst & 3cuare fafgu . I1x3=3
() CHy - CH, - O — CHy + HI —>
OH
CS,
(ii) +Br, ——>
OCHj

fetet AlCl,
(iii) + CH3COC1

Give one chemical test to distinguish between the following :
(a)  Phenol and 1-propanol
(b)  Ethanol and dimethyl ether
(c) 1-propanol and 2-Methyl-2-propanol
OR
Write the products of the following reactions :

OH
CS,
(ii) +Br, ——>
OCH,

anhyd. AlCl,
(iii) + CH3COC1

24. (a) frafafeq shwyi § @ 9 gfedifas 2
S, ATFraaTted, UfefE, oIfira
(b)  THTEH 1 AN hadd 3 G Ud YT USTT qeb HIfd =i B 2
(c) & HEH HETehl I ATawIHAT I TSl B 2 3
. 56/5/3 12
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(a)  Which one of the following drugs is an antibiotic :
Equanil, Ofloxacin, Aspirin, Luminal
(b)  Why is use of aspartame limited to cold food and drinks ?
(c) Why do we require artificial sweetening agents ?
Eus q
SECTION D
25. ffafea % fow s df Ix5=5

(a)  NO, o @ fgaefiera 2t 2 |
(b) FARH TaiStes <At wifd e Ll B |
(¢) BT UBH 8 W i, oo 6l Soieei= dAfed TAedt, Hohl shi U
HH UMCH 2 |
(d) FAA I w9ifd 9gd ¥ AlFEl-eFA 7 TR, FIANE had Th
ATFE-37A HOF AT 2 |
(e)  3Ichte MMl o FUATH 9§d HH BId & |
ST
(a) T=fciRed & T=AN ST wg Tmehia o 9™ faRaw -
(1) SF4
Gi) ICl,
(b) o1 BT § S« (3194 3T gfte aeiee |fga Hifve)
i) T T T SR g |ifsIm gsgiedss faeam § yarfga

STt B 2
(i) S SIS 1 qUI STeA-3Taere foham ST 8 2
(iii) 95 HeHReh 3TV TRt h ST AT AT & 2 2+3=5

Give reasons for the following :
(a)  NO, dimerises readily.

(b)  Chlorine acts as a bleaching agent.

(c) In spite of small size, electron gain enthalpy of oxygen is less
negative as compared to sulphur.

(d)  Unlike chlorine, fluorine forms only one oxoacid, HOF.
(e)  Noble gases have very low boiling points.

OR
1561513 13 PTO.



/%40
£
20

(a)  Draw structure and name the shape of the following :
(1) SF,
i) IClg

(b)  What happens when (Support your answer with equation)

) Chlorine gas is passed through hot and concentrated sodium
hydroxide solution ?

(i)  Xenon hexafluoride is subjected to complete hydrolysis ?
(iii) Concentrated sulphuric acid is poured over cane sugar ?

26. (a) CHg-CH =CH - CHO %I IUPAC 7™ faifiaq |
(b) 3 VAT TR A o Tey faug 8 T Thd 8 ?
(c) o f=fefad Euraer & & ?
(i) 2l i dwalgeh 30 |
(i)  TAATA I TUA-2-317A |
(i) TS I 2-BISSTFRATIUAISS 37 o 1+1+3=5
arera
(a) afcAfaferss st %1 IUPAC 1 fafeT |
(b) UHIfTH ITrcA hI U FARIUHITH 3T 3Tferes el B, I 2
(c) 3Rl i [IRET S (CHy)3C—-CHO Tefaftad o &ner aifufshan s
q:
i) o menm IR a7 TTEgiaaiiie o
(i) @ HifeTw BEgiaaTss foerm
(i) EHiREEE AR g A 1+1+3=5

(a) Give IUPAC name of CHg - CH = CH — CHO.

(b)  How can you distinguish between ethanol and ethanal ?
(c) How will you convert the following :

(1) Toluene to benzoic acid

(11) Ethanol to propan-2-ol

(i1i) Propanal to 2-hydroxypropanoic acid

OR
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(a)  Give IUPAC name of Salicylic acid.
(b)  Chloroacetic acid is more acidic than acetic acid. Why ?

(c) Write the products formed when (CHg)3C—-CHO reacts with the
following :
) Zinc amalgam and dilute hydrochloric acid
(i1)  Concentrated sodium hydroxide solution
(iii) Semicarbazide and a weak acid

27. (a) 9 T 3 ¥ & HLY Tsh I0Q Wiw Tg foo=e § foames +
FIYTh IFIA hl AT I |

(b) 2 TR IA H 25°C W K,S0, % 25 mg HieH W T arel faerz
TUE 316, I8 WA §Y A i 6 K,S0, quia: foaifad &t mn 2 |
(T goI{H : K=39u,S=321u,0=16 1) 243=5
AYAT
(a) oTTeY faeem & @1 rfyem fafem |

(b) 2g S=ilgh A (C4gH,COOH) 25g s=ifH H ®ied W femrs #
162 K &1 376HT il 8 | a4 & foiu Wi ofam foores
49 K kg mol—! % | Ife I8 faermm ) feda (dimer) SATAT %, ql 37 HI
T ok wfcerd g 2 2+3=5

(a) Draw the graph between vapour pressure and temperature and
explain the elevation in boiling point of a solvent in solution.

(b)  Determine the osmotic pressure of a solution prepared by
dissolving 25 mg of K,SO, in 2 litres of water at 25°C assuming it
to be completely dissociated. (Atomic masses K = 39 u, S = 32 u,
O=16u)

OR
(a) Write two characteristics of non-ideal solution.

(b) 2 g of benzoic (CqH;COOH) dissolved in 25 g of benzene shows a
depression in freezing point equal to 1:62 K. Molal depression
constant for benzene is 4-9 K kg mol~!. What is the percentage
association of acid if it forms dimer in solution ?



